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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 11.00 m, Q=(64.310, 59.320), =(3.000, 2.998)
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G. Sterbini LHC Squeeze (”movie”)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 9.00 m, Q=(64.310, 59.320), =(3.002, 3.004)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 7.00 m, Q=(64.310, 59.320), =(3.001, 3.005)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 4.00 m, Q=(64.310, 59.320), =(3.000, 3.009)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 3.00 m, Q=(64.310, 59.320), =(2.998, 3.010)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 2.50 m, Q=(64.310, 59.320), =(3.000, 3.000)

15

10

5

0

5

10

15

=K
0L

 [m
ra

d]

12600 12800 13000 13200 13400 13600 13800 14000 14200
s [m]

0

1000

2000

3000

4000

5000

6000

-fu
nc

tio
ns

 [m
]

x

y

4

3

2

1

0

1

2

3

4

Di
sp

er
sio

ns
 [m

]

Dx

Dy

G. Sterbini LHC Squeeze (”movie”)



3/5

LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 2.00 m, Q=(64.310, 59.320), =(3.000, 3.000)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 1.50 m, Q=(64.310, 59.320), =(3.000, 3.000)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 1.20 m, Q=(64.310, 59.320), =(3.000, 3.000)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.90 m, Q=(64.310, 59.320), =(3.000, 3.000)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.80 m, Q=(64.310, 59.320), =(2.995, 3.106)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.70 m, Q=(64.310, 59.320), =(2.983, 3.123)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.65 m, Q=(64.310, 59.320), =(2.941, 3.142)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.60 m, Q=(64.310, 59.320), =(2.910, 3.165)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.55 m, Q=(64.310, 59.320), =(2.882, 3.191)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.50 m, Q=(64.310, 59.320), =(2.856, 3.243)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.45 m, Q=(64.310, 59.320), =(2.849, 3.280)
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LHC “Regular” Squeezing (movie)
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CERN Large Hadron Collider, 2016 Optics, Beam 1, IP5 squeeze, IP = 0.40 m, Q=(64.310, 59.320), =(2.841, 3.323)
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LHC Achromatic Telescopic Squeezing

LHC Achromatic Telescopic Squeezing
https://cds.cern.ch/record/1636178

G. Sterbini LHC Squeeze (”movie”)

https://cds.cern.ch/record/1636178
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LHC Achromatic Telescopic Squeezing (movie)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 11.00 m, Q=(62.310, 60.320), =(1.991, 1.964)
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LHC Achromatic Telescopic Squeezing (movie)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 9.70 m, Q=(62.310, 60.320), =(1.982, 1.956)
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LHC Achromatic Telescopic Squeezing (movie)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 9.20 m, Q=(62.310, 60.320), =(1.972, 1.953)
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LHC Achromatic Telescopic Squeezing (movie)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 8.50 m, Q=(62.310, 60.320), =(1.961, 1.950)
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LHC Achromatic Telescopic Squeezing (movie)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 7.40 m, Q=(62.310, 60.320), =(1.951, 1.945)
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LHC Achromatic Telescopic Squeezing (movie)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 6.30 m, Q=(62.310, 60.320), =(1.945, 1.936)
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LHC Achromatic Telescopic Squeezing (movie)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 5.30 m, Q=(62.310, 60.320), =(1.945, 1.923)

15

10

5

0

5

10

15

=K
0L

 [m
ra

d]

12500 13000 13500 14000 14500
s [m]

0

2000

4000

6000

8000

10000

12000

-fu
nc

tio
ns

 [m
]

x

y

4

3

2

1

0

1

2

3

4

Di
sp

er
sio

ns
 [m

]

Dx

Dy

G. Sterbini LHC Squeeze (”movie”)



5/5

LHC Achromatic Telescopic Squeezing (movie)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 4.40 m, Q=(62.310, 60.320), =(1.955, 1.902)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 3.60 m, Q=(62.310, 60.320), =(1.979, 1.875)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 3.10 m, Q=(62.310, 60.320), =(2.001, 1.853)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 2.30 m, Q=(62.310, 60.320), =(2.003, 1.824)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 1.80 m, Q=(62.310, 60.320), =(1.984, 1.804)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 1.35 m, Q=(62.310, 60.320), =(1.948, 1.776)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 1.00 m, Q=(62.310, 60.320), =(1.893, 1.738)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.80 m, Q=(62.310, 60.320), =(1.836, 1.702)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.65 m, Q=(62.310, 60.320), =(1.766, 1.660)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.54 m, Q=(62.310, 60.320), =(1.683, 1.616)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.46 m, Q=(62.310, 60.320), =(1.593, 1.571)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.40 m, Q=(62.310, 60.320), =(1.459, 1.531)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.37 m, Q=(62.310, 60.320), =(1.402, 1.480)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.33 m, Q=(62.310, 60.320), =(1.307, 1.399)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.30 m, Q=(62.310, 60.320), =(1.214, 1.327)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.27 m, Q=(62.310, 60.320), =(1.095, 1.240)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.25 m, Q=(62.310, 60.320), =(0.996, 1.172)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.22 m, Q=(62.310, 60.320), =(0.802, 1.046)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.18 m, Q=(62.310, 60.320), =(0.403, 0.808)
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CERN Large Hadron Collider, 2018 Optics (ATS), Beam 1, IP5 squeeze, IP = 0.15 m, Q=(62.310, 60.320), =(-0.098, 0.531)
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